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C++ Lesson 22 Using the rand() Function
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Linear Congruential Method
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© rand()f7:Elp! - FEFSETH, A 0 = RAND_MAX ]

int iCurr = 1;

const int RAND MAX = 32767;

int rand(void) {
iCurry = iturr % 11349232345 # 249923;
return( (unsigned) (iCurx/65536) % 32768);

}
1. call rand()EJJ: ?[ seed [ iCurr EIEI*J]%%‘EW;
2. iCurr & 7% llf'ﬂfkﬂJ§V1134232345 fjJDllfF&§F24923
3. wix— T, F IH L*EZEIV mod 32768 fEREe, Bkl 0~32767
4, %‘3% iCurr/65536
© srand()

void srand(int iSeed) ¢
iCorr = iSeed;

}

1. srand()E‘JqéF%‘fgf rand ™ EESHE =" seed ©

2.Call rand()ﬁjr Bk & @&@?‘F » MIEELH]H srand()lz%‘ﬁ* FerESEeE =" (seed) , YIHN %%’%Eﬁﬁ"

3L RIGHD seed > 15 h@%ﬁ% K‘T FIFIRS 1 [R5 rand ()= *F’?E% = R BTl

B e

/I8y 1

//7 call srand() #& (Y]

#include <iostream>

int main()
{
using namespace std;
for (int 1Index=0;1Index<10;++ilndex){
cout<<rand()<<" ";
}
system("pause");
return O;


http://www.ait.url.tw/

Pa[$ ZLFEHE Ai.Tech

J1EE 2
//call srand ()i ]

//call time()?-l}’ seed
#include <iostream>
#include <ctime> //9[" |<ctime>t# Pt , [N time()pi{ke &5 7 AR P ctime 1

void main()

{
using namespace std;
time_t t; /R[]l int64 , 2°-64 ~ 2764 .V fI IR
time(&t); /A ﬁﬁ%ip 1970 F 1 [ 1 [T 057 OFPE[ZH EUE?[IC PR
srand(t); // F,\'%Jﬁcall srand()— - ¥
for(int ilndex=0;ilndex<10;++ilndex){
cout<<rand()<<""; // srand()f’{ call rand() 8 * ¢ Ef[ seed ,[fi| rand() 4 £} ¥ | recurrsion %ﬁjﬂ
h
cout<<endl;
system("pause");
h

® PN AN call randOFF , o PARBIEL R 901 | AR M, [ rand() return ﬁ»‘ﬁ@%@m Fl
mod M, f i % 2 PRI B HE, ’F? Sl 0<=f" Be=<M
® Y[ cout<<rand() Yod<<""; /"%  {YE Ykl 0~3

/AT 3
/I % 9 10~100(FA'l 10 ~ IOO)F'E?JEKJ%“Q{T
//fx;j%?; R CHAE R 7-30
/1 2% #¥:int r=m+rand()%(n-m+1); //m<=r<=n
#include <iostream>
void main(){
using namespace std;
for(int i=0;1<=8;i++){
cout<<10-+rand()%(100-10+1)<<; /& | Yrhl 10+0 , &ALkl 10490
}

system(“‘pause”);
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#include <iostream>

#include <ctime> //4 [ |<ctime>1& P

#include <conio.h> //getch()d[* |<conio.h>1&FFifH;

using namespace std;

—
~

i)
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int main()
{
srand((unsigned int)time(NULL)); /I | 7k E‘j]: i FI, %5@9
int n;
while(true) /= B3 5!
{

cout << "r,%ﬁ [ R
char ch=getch(); //4F 5
if (ch =="') /¥ Enter 5 i

{
cout << "@’ﬁgg'i@%ﬁ%ﬂ# I'\n";
break;
§
else
{
n=1+rand()%(6-1+1); //§ H 1~6
cout << n%’!@ﬁ@ < pn<<" %_fﬁnu;
§

H
system("pause");

return 0;
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O\%[FIfRE (LCG > Linear Congruential Method) /7 ?ﬁ
http://tw.myblog.yahoo.com/jk3527101/article?mid=134&next=133&l1=a

&5 Pk ) #4275 (LCG » Linear Congruential Method):
BRrtR 2 e A eyl g & 7\ > AR £ i A8y -
R T 41951 - Lehmerrde & -
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: |ay. + c]mod m

LATF B A 2R 81

yOJ: 72 118 (seed)

a : B € T (constant multiplier)
: 3% Jww (1ncrement )

B (modulus)
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yOR& #4618 » 48 AT 1A (seed) » HuwyfEFHyixF A
V. =@y, +c]mod m
RAEEEHR BHETZHARAEBCELNERBERERTFRIEA -

AR AL R | pr & A 69 B Biper (R1) » A f£per(RO<=m&) &4+ T o
PR GBS E 0 am=10 2cisian® C=3 > v0=T= 8 84
“~nn

i (i 5yi+3 | (5yi+3)/16[viz1 ol
0 '.-'; 35 38 38/16 b Y 0.375
L (630 30 33 [33/16 1 0.063
2 1725 8 8/16 8 0.5
3 §yy 40 13 13/16 1] 0. 638

SRPE [B) BR K Sufp)

%2 TE &4#4%i=1~198yi&sol -
B &% F 7T o0EF BylT7sv1=6 - Widsslsl - v19=y3=8
B1=17~18~19821=] -2~ 3BLEEZ T T LA V1 ASOl A E4 M -
LT L& £i=1~164 —:iAH8 o
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2| mfooss 7 |12]07s 12\ 3 [018s 17 6 0375
3\slos 8 |i1s[ooss 13 ]2/0125 18 M 0063
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rand()Esrand ()i& (EFEE B
int iCurr = 1;
const int RAND MaAX =
int rand(void) {
iCurr = iCurr * 1134232345 + 24923;
return( (unsigned)/(iCurr/65536) |$ 32768);

\

Wi 4E 7 & ?UH%

LCMEL 50

= 32767;

void sran
iCurr = iSeed;

v05E #7451

A &4 5] ffi%;-: » Zm=16 - ~c=3 ~ y0=T= A H7:
| 7B | vi Hvi avi+3d | (Bvi+3)/16 | vi+l Sol
0 770 35 38 38/16 6 0.375
I 6/ 30 33 33/16 I 0. 063
2 1 Y= D 3 3/16 3 U
3 8§/3 A 13 43/16 1 0. 688
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